SERIES AND PARALLEL CIRCUITS Version B. 		Name ________________________________



In the space to the left, write the letter of the answer to each question.



1. 	_____ If there are four electrical devices connected in a series circuit, then the number of current paths is equal to    

			A. one    B. two    C. three    D. four.



2. _____ A series circuit contains a generator, an ammeter, and a lamp. The current in the lamp is    

			A. equal to the current in the ammeter	

			B. less than the current in the ammeter

			C. equal to the current in the generator

			D. A and C.



3.	_____ A series circuit contains four resistors. The equivalent resistance of the circuit is equal to

		A. 4R        B. R1 +	 R2 + R3 + R4            C. R/4        D. (R1 + R2 + R3 + R4)/4



4. _____ A 5�Ω resistor, a 20�Ω resistor, and a 25�Ω resistor are connected in series across a 90�V bat�tery. The net change in potential going around this circuit is

		A. zero      B. 4 V      C. 50 V      D. 90 V

.

5.	_____ If three resistors are connected in parallel, there are how many current paths in the circuit.      	

		A. one      B. two      C. three      D. four



6.	_____ The equivalent resistance of a parallel circuit is always ________ the resistance of any resistor in the circuit.

		A. greater than        B. less than        C. equal to



7. 	_____ A 10�Ω resistor is connected in series with a 60�V battery. Two 15�Ω resistors are connected in parallel with the same battery. How many current paths are there?        A. one        B. two        C. three        D. four



8. _____ Connecting a voltmeter across a resistor causes the potential across the resistor to

		A. double        B. decrease to one�half        C. remain about the same.



9. _____ An ammeter is connected in ________ and a voltmeter is connected in ________.

		A. parallel, series	         B. parallel, parallel         C. series, series         	D. series, parallel.



10.	Two resistors of 5.0 Ω and 9.0 Ω are connected in series across a 12.0-V battery.  Draw the circuit below.

		a.	What is the equivalent resistance of the circuit? ____________







		b.	What is the current through the 5.0 Ω ohm resistor? ____________







		c.	What is the current through the 9.0 Ω resistor? ____________









		d.	What is the voltage drop across each resistor? ____________



11.	A 18.0 Ω bell and an 10.0 Ω lamp are connected in parallel and placed across a potential difference of 48 V. Draw the circuit to the right.



	a.	What is the equivalent resistance of the circuit? ____________









	b.	What is the total current in the circuit? ____________









	c.	What is the current through each resistor? ____________









	d.	What is the voltage drop across each resistor? ____________











12.	Find the reading of each ammeter and each voltmeter. Then place the value in the blanks provided.



�



	a.	V1 _______________          V2 _______________          V3 _______________





	b.	A1 _______________          A2 _______________



	

	


